RD SHARMA
Solutions
Class 7 Maths

Chapter7
Ex 7.2



Q1) Add the following:

(i) 3x and 7x (ii) -5xy and 9xy
Solution:

We have

(1) 3x+7x=3+7)x=10x

(i1) -5xy + 9xy = (-5 + 9)xy = 4xy

02) Simplify each of the following:

i) 73y +9yx® (ii) 12a®b + 3ba?
Solution:

Simplifying the given expressions, we have

(i) 753y +9yx® = (7 +9)x}y = 16x°y

(i) 12a%b + 3ba? = (12 + 3)ab = 15a%b

03) Add the following:
(i) 7abc, -Sabe, 9abce, -8abe (i) 2x%y, —4x%y, 6x%y, —5x%y
Solution:

Adding the given terms, we have

(i) 7abe + (-5abc) + (9abc) + (-8abc)

= 7abc — Sabc + 9abc — 8abe

=(7-5+9—8)abc

=(16—13)abc

= 3abc

(i) 2x2y + (—4x%y) + (6x%y) + (—5x7y)

=2x%y — 4x%y + 6x%y — 5x%y

=(2-4+6-5x%

=(8-9)x%

= —X2y

04) Add the following expressions:

() x° = 2x%y +3xy? —y3, 2x° — 5xy? + 3x%y — 4y’

(i) a* — 2a%b + 3ab’® + 4a?b? + 3b*, —2a* — 5ab® + 7a’b — 6a’b? + b*
Solution:

Adding the given expressions, we have

(i) x® —2x%y +3xy? —y? +2x° — 5xy? +3x%y — dy?

Collecting positive and negative like terms together, we get

X3 +2x3 = 2x2y +3x2%y +3xy? — 5xy? —y3 — dy?
=3x% +x%y — 2xy? - 5y°

(i) (a* — 2a°b + 3ab’® + 4a%b? + 3b*) + (—2a* — 5ab® + 7a’b — 6a%b? + b*)

a* —2a%b + 3ab’® + 4a%b? + 3b* — 2a* — 5ab’ + 7a’b — 6a’b? + b*
Collecting positive and negative like terms together, we get



a* —2a* —2a’b + 7a°b + 3ab’ — 5ab® + 4a%b” — 6a’b? + 3b* + b*
=—a*+35a%b — 2ab’ — 2a%b% + 4b*

Q5) Add the following expressions:

(i) 8a— 6ab + 5b, —6a — ab — 8b and —4a + 2ab + 3b

(i) 5%° + 7+ 6x — 5x%, 2x> — 8 —9x, 4x —2x%> +3x°, 3x’ —9x— x> and x - x> —x°> — 4
Solution:

(1) Required expression = (8a — 6ab + 5b) + (—6a —ab — 8b) + (—4a + 2ab + 3b)

Collecting positive and negative like terms together, we get

8a—6a—4a—6ab—ab + 2ab + 5b—8b + 3b

=8a—10a—7ab + 2ab + 8b—8b

=-2a-5ab

(1) Required expression =

(5x3 + 7+ 6x —5x%) + (2x% — 8 = 9x) + (4x — 2x% + 3x%) + (3x° - 9x — x?)
Fx-xX-x—4)
Collecting positive and negative like terms together, we get

53 +3x° X -5 22 22 - X2 - X2+ 6Xx — 99X +4AX —9x +x+T7— 8

=10x* = 7x* = 7x =5 !

Q6) Add the following:

(i) x—3y—2z (ii) 4ab — 5bc + 7ca
Sx+7y-8 —3ab + 2bc — 3ca
3x—-2y+35z S5ab—3bc + 4ca

Solution:

(1) Required expression = (x — 3y —2z) + (5x + 7Ty — 8z) + 3x =2y + 5z)
Collecting positive and negative like terms together, we get
X+5x+3x=3y+7y—-2y—2z—-8z+5z

=9x—=5y+7y—10z+ 5z

=9x+2y-5z

(i1) Required expression = (4ab — Sbe + 7ca) + (=3ab + 2bc — 3ca) + (5ab — 3bc + 4ca)
Collecting positive and negative like terms together, we get

4ab — 3ab + 5ab — Sbc + 2bc — 3bc + 7ca — 3ca + 4ca

=9ab — 3ab — 8bc + 2bc + 11ca—3ca

= 6ab — 6bc + 8ca

07) Add 2x> — 3X + 1 to the sum of 3X> — 2X and 3x + 7.
Solution:

Sum of 3x% — 2X and 3x +7

=(3x2 = 2x)+(3x +7)

=3x2—-2x+3x+7

=3 +x+7)



Now, required expression = 2x> — 3x + 1 + (3X2 +x+7)
=2x2+3x>=3x+x+1+7

=5x2-2x+8

08) Add x> +2Xy +y? to the sum of x> — 3y? and 2x> —y2 +9.
Solution:

Sum of x> — 3y% and 2x> —y2 +9

=(x* =3y + (2% —y*+9)

=x>+2x2 - 3y2—y?+9

=3x?—4y? +9

Now, required expression = (x> + 2xy +y2) +3x2 —4y2 +9
=x2+3x% +2xy +y2 —4y? +9

=4x%+2xy — 3y +9

09) Add @> +b° — 3 to the sum of 2a°> — 3b° — 3ab + 7 and —a> + b> + 3ab— 9.

Solution:
First, we need to find the sum of 2a> — 3b> — 3ab + 7 and —a°> + b> + 3ab—9

=(2a3 —3b3—3ab+7)+(-a3 + b3 +3ab—-9)

Collecting positive and negative like terms together, we get
=2a’—a’—3b’ +b’ —3ab+3ab+7-9

=a’—2b’ -2

Now, the required expression = (a° + b3 —3) + (a3 —2b> — 2)
=a’+a’ +b° -2b° -3 -2

=22’ b’ -5

Q10) Subtract:

(i) 7a2b from 3a%b

(ii) 4xy from -3xy

Solution:

(i) Required expression = 3a’b — 7a’b
=(3-"7)a%b

=—4a%b

(i1) Required expression =—3xy — 4xy

=-Txy

Q11) Subtract:
(i) -4x from 3y
(ii) -2x from -5y

Solution:



(i) Required expression = (3y) — (—4x)
=3y +4x

(i1) Required expression = (-5y) — (—2x)
=5y +2x

Q12) Subtract:

(i) 6x° — 7x% + 5x — 3 from 4 — 5x + 6x* — 8x°

(ii) —x> — 37 from 5x> — y+tz+7

(i) X° + 2x%y + 6xy2 —y> from y® — 3xy? — 4x%y

Solution:

(i) Required expression = (4 — 5x + 6x% — 8x%) — (6x> — 7x% + 5x — 3)
=4-5x+6x2—8x° —6x>+7x2—5x+3
=8 —6x° +7x2 +6x2 — 5x - 5x +3 +4

=—14x> +13x2 - 10x + 7

(i) Required expression = (5x% =y +z + 7) — (—x2 — 32)
=52 -y+z+7+x>+3z
=5x2+x>—y+z+3z+7

=6x>—y+4z+7

(iii) Required expression = (y® — 3xy? — 4x%y) — (x° + 2x%y + 6xy? —y*)
=y3 —3xy? —4x%y - x° — 2x%y — 6xy? +y°

=y3 +y3 = 3xy2 — 6xy2 — 4x2y — 2x%y — X°

=2y% - 9xy? — 6x%y — X°

Q13) From

() p> — 4+ 3p>, take away Sp*> —3p° +p—6

(i) 7+ X — X2, take away 9 +x + 3x2 + 7x3

(i) | — 5y2, take away y> +Ty> +y + 1

(iv) x> — 5x2 + 3x + 1, take away 6x> — 4x3 + 5 + 3x
Solution:

(i) Required expression = (p> — 4 + 3p?) — (5p> = 3p> +p — 6)
=p’—4+3p?=5p>+3p° —p+6

=p’+3p* +3p? = 5p* —p-4+6

=4p* -2p’ —p+2

(ii) Required expression = (7 + x — x2) — (9 + x + 3x> + 7x°)
=7+x-x*-9-x-3%-7%°
=-73-x2=-3x2+7-9

==X’ —4x* -2



(iii) Required expression = (1 = 5y2) — (y> + 7y +y + 1)
=1-5y2 =y’ =7y?-y~—1

==y =5y’ =Ty? -y

=y’ - 12y’ -y

(iv) Required expression = (x> — 5% + 3x + 1) — (6x> — 4x> + 5 + 3x)
=X} =52 +3x+1—-6x2 +4x° - 5-3x
=xX3+43 =52 -6x2+1-5

=53 —11x> -4

014) From the sum of 3X°> — 5X + 2 and —5x* — 8x + 9 subtract 4x> — 7x + 9.
Solution:

Required expression = [(3x2 — 5x +2) + (—5x2 — 8x + 9)] — (4x2 — 7x +9)
=[3x2 = 5x+2-5x> - 8x + 9] - (4x> = 7x +9)

=[3x> = 5x? —5x —8x+2+ 9] — (4x*> = 7x +9)

=[-2x% — 13x + 11] = (4x*> = 7x +9)

=2x2—13x+11-4x2+7x -9

=-2x2—4x® - 13x+ 7x+ 11 -9

=—6x2—6x+2

Q15) Subtract the sum of 13x — 4y + 7z and —6z + 6x + 3y from the sum of 6x —4y — 4z and 2x +4y—7.
Solution:

Sum of (13x — 4y + 7z) and (—6z + 6x + 3y)

=(13x—4y + 7z) + (-6z + 6x + 3y)

=(13x—4y + 72— 6z + 6x + 3y)

=(13x+6x—4y +3y + 72— 62)

=(19x—-y+2)

Sum of (6x — 4y —4z) and (2x + 4y —7)
=(6x—4y—4z)+(2x+4y-17)

=(6x—4y—4z+2x +4y-7)

=(6x+2x—-4z-7)

=8x—-4z-17)

Now, required expression = (8x —4z—7)— (19x —y + z)
=8x—-4z-7-19%+y—-z

=8x—19x+y—4dz—-2z-7

=-llx+y-5z-7

Q16) From the sum of x> +3y? — 6xy, 2x? —y? +8xy, y2 + 8 and x? — 3xy subtract —3x> +4y2 —xy +x —y + 3.

Solution:



Sum of (x> + 3y2 — 6xy), (2x>—y? +8xy), (y>+ 8) and (x> — 3xy)

= (% +3y? —6xy) + (27 —y? +8xy) +(y? +8) + (x* = 3xy)
=(x2+3y? —6xy +2x2 —y2 + 8xy +y? + 8 +x% — 3xy)

=(x2+2x% +x2 +3y2 —y2 +y? - 6xy + 8xy — 3xy + 8)

=(4x%> + 3y2 —xy +8)

Now, required expression = (4x° + 3y% —xy + 8) — (-3x% + 4y> —=xy +x —y +3)
=42 +3y2 —xy +8+3x° 4yl +xy—x+y -3

=4x* +3x? +3y? —dy? —xy +xy —x+y—-3+8

=7x2—y?2—x+y+5

Q17) What should be added to xy — 3yz + 4zx to get 4xy —3zx + 4yz + 72

Solution:

The required expression can be got by subtracting xy — 3yz + 4zx from 4xy — 3zx +4yz + 7.
Therefore, required expression = (4xy — 3zx + 4yz + 7) — (xy — 3yz + 4zx)

=4xy —3zx +4yz+ 7 —xy + 3yz—4zx

=4xy —xy —3zx—4zx +4yz+3yz+7

=3xy—Tzx+Tyz+7

018) What should be subtracted from x> — Xy +y> = X +y + 3 t0 obtain —x> + 3y> — 4xy + 1?
Solution:

Let ‘M’ be the required expression. Then, we have
X2-xy+y?—x+y+3-M=—x>+3y? —4dxy +1

Therefore,

M=(x2—xy +y2—x+y+3)—(—x*+3y2 —4dxy + 1)
=xX2-xy+y?—x+y+3+x>-3y?+4xy -1

Collecting positive and negative like terms together, we get

X2+ x2—xy +4xy +y2-3y?—x+y+3-1
=2x%+3xy —2y? —x+y+2

Q19) How much is x — 2y + 3z greater than 3x + 5y — 77
Solution:

Required expression = (x —2y + 3z) — (3x + 5y = 7)
=x-2y+3z-3x-5y+7

Collecting positive and negative like terms together, we get
X—3x—2y+35y+3z+7

=-2x-Ty+3z+7

020) How much is x> — 2xy + 3y? less than 2x> — 3y? + xy?
Solution:
Required expression = (2x% — 3y2 + xy) — (x> — 2xy + 3y?)

=2x2 - 3y2 +xy — x% + 2xy — 3y?2



Collecting positive and negative like terms together, we get

2x2 —x? = 3y? = 3y? 4+ xy + 2xy X — 6y + 3xy

021) How much does a> — 3ab + 2b” exceed 2a> — Tab + 9b>?
Solution:

Required expression = (a® — 3ab + 2b%) — (2a® — 7ab + 9b?)
=a? — 3ab +2b? — 2a” + 7ab — 9b>

Collecting positive and negative like terms together, we get

=a? —2a%> — 3ab + 7ab + 2b* — 9b?

=—a? +4ab — 7b?

022) What must be added to 12x> — 4x° + 3x — 7 to make the sum x> +2x> — 3x + 22
Solution:
Let ‘M’ be the required expression. Thus, we have

12X —4x> +3x -7+ M =x°> +2x> = 3x +2
Therefore,

M=(x>+2x2-3x+2)-(12x> —4x2 +3x - 7)
M=x>+2x> = 3x+2 - 12x> +4x> - 3x + 7
Collecting positive and negative like terms together, we get

X123 +2x2 +4x2 = 3x = 3x + 7 +2x° — 123 +2x% +4x2 —3x —3x + 7 +2
=—11x*+6x2-6x+9

023) IfP=T7x> + 5xy — 9y?, @ =4y? — 3x% — 6XY and R =—4x> + Xy + 5y2, show that P+Q + R = 0.
Solution:

We have

P+Q+R=(7x> +5xy — 9y?) + (dy? — 3x> — 6xy) + (—4x> + Xy + 5y?)
=7x2 +5xy — 9y? +4y? = 3x% — 6xy — 4x? + xy + 5y?

Collecting positive and negative like terms together, we get

7x% = 3x% — 4x2 + 5xy — 6xy + Xy — 9y> + 4y? + 5y?
=7x% = 7x% + 6xy — 6xy — 9y? + 9y?

=0

024) IfP=2> —b? +2ab, 0 =a2 + 4b> — 6ab, R=b? + b, §=a> —4aband T=—-2a> +b> —ab+a Find P+ Q+R+S-T.
Solution:

We have

P+Q+R+S—T=[(a?—b*+2ab) + (a? +4b> — 6ab) + (b> +b) + (a> — 4ab)] — (—2a® + b? —ab +a)
=[a> — b% +2ab +a’ +4b> — 6ab + b” + b +a’> — 4ab] — (—2a> + b> —ab +a)

=[3a% +4b> — 8ab + b] — (—2a% + b*> —ab + a)

=3a> +4b>—8ab+b+2a>—b>+ab-a

Collecting positive and negative like terms together, we get

3a2+2a% +4b>—b>—8ab+ab—a+b
=35a2+3b>—7ab—a+b



